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B.Com. Second Year EXAMINATION, 2019 

A.B.S.T. 

Paper – I 

Income Tax 

Time: Three Hours 

Maximum Marks: 100 
 

         PART – A ¼[k.M & v½¼[k.M & v½¼[k.M & v½¼[k.M & v½      [Marks: 20] 

Answer all questions (50 words each). 

All questions carry equal marks. 

lHkh iz’u vfuok;Z gSaA izR;sd iz’u dk mŸkj 50 'kCnksa ls vf/kd u gksA  

lHkh iz’uksa ds vad leku gSaA 

         PART – B ¼[k.M & c½¼[k.M & c½¼[k.M & c½¼[k.M & c½      [Marks: 50] 

Answer five questions (250 words each). 

Selecting one from each unit. All questions carry equal marks. 

izR;sd bdkbZ ls ,d&,d,d&,d,d&,d,d&,d iz’u pqurs gq,] dqy ik¡pik¡pik¡pik¡p iz’u dhft,A 

izR;sd iz’u dk mŸkj 250 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 

           PART – C ¼[k.M & l½¼[k.M & l½¼[k.M & l½¼[k.M & l½      [Marks: 30] 

Answer any two questions (300 words each). 

All questions carry equal marks. 

    dksbZ nks iz’unks iz’unks iz’unks iz’u dhft,A izR;sd iz’u dk mŸkj 300 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 
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PART – A @ @ @ @ [k.M[k.M[k.M[k.M& v& v& v& v 

Q.1 (a) An assessee starts his business on –  

  (i) 1st September, 2017  

  (ii) 1st March, 2018  

In each case, what will be his assessment year and what period will be treated 

as his previous year for the concerned assessment year? 

  ,d djnkrk viuk O;kikj fuEu frfFk;ksa dks izkjEHk djrk gS &  

  (i) 1 flrEcj 2017 

  (ii) 1 ekpZ] 2018  

 izR;sd n’kk esa mldk dj fu/kkZj.k o"kZ D;k gksxk vkSj lacaf/kr dj fu/kkZj.k o"kZ ds fy, 

mlds xr o"kZ dh D;k vof/k gksxh\  

 (b) Give five examples of income exempted under section 10 of Income Tax Act.  

 vk;dj vf/kfu;e dh /kkjk 10 ds varxZr ik¡p djeqDr vk; fyf[k,A  

 (c) What is the maximum deduction of interest is allowed on loan taken for 

construction of house which is given on rent?  

 fdjk;s ij mBs gq, edku ds fuekZ.k gsrq fy, x;s _.k ij C;kt dh vf/kdre dVkSrh dh 

D;k lhek gS\  

 (d) State the items of income from house property which are not liable to tax.  

  edku lEifÙk ls vk; ds mu enksa dk o.kZu dhft, ftu ij dj ugha yxrk gSA  
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 (e) GGT Ltd. purchases goods from Ram Ltd. for `20,000 and paid in cash. What 

amount is not deductible U/S 40 A (3)?  

 th-th-Vh- fyfeVsM us jke fyfeVsM ls 20]000 ` dk eky [kjhnk vkSj Hkqxrku udn esa dj 

fn;kA /kkjk 40 A (3) ds varxZr fdruh dVkSrh ugha feysxh\  

 (f) State –  

  W. D. V. of assets – Sale Value of Assets =  

  Sale Value of assets – W. D. V. of Assets =   

  crkb;s &  

  lEifÙk dk vifyf[kr ewY; & lEifÙk dk foØ; ewY; ¾  

  lEifÙk dk foØ; ewY; & lEifÙk dk vifyf[kr ewY; ¾ 

 (g) Find tax payable by Shyam for the A. Y. 2018-19 if his total taxable income of 

`3,12,000 includes `1,00,000 from taxable long term capital gain.  

   ';ke dk dj&fu/kkZj.k o"kZ 2018&19 ds fy, dqy ns; vk;dj Kkr dhft, ;fn mldh 

 dqy dj ;ksX; vk; 3]12]000 ` esa 1]00]000 ` ds dj&;ksX; nh?kZdkyhu iw¡thxr ykHk 

 lfEefyr gaSA  

 (h) Give the name of donations of which 50% deduction is allowed U/S 80 G 

without any limit.  

  ,sls nkuksa ds uke nhft, ftu ij fcuk fdlh lhek ds 80 G esa 50% dVkSrh miyC/k gSA  
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 (i) Calculate the amount of tax to be deducted from these payments.  

  (a) Amount payable under Sub – Contract – `20,000  

  (b) Dividend from Jaipur Metals `5000  

  (c) Winning from lottery `10,000 

  (d) Income from salary `1,00,000 

  bu Hkqxrkuksa ds laca/k esa mn~xe LFkku ij dh tkus okyh dVkSrh dh x.kuk dhft, &  

  ¼v½ mi&Bsdk ls izkI; jkf’k 20]000 ` 

  ¼c½ t;iqj esVYl ls izkI; ykHkka’k 5000 ` 

  ¼l½ ykWVjh ls iqjLdkj 10]000 ` 

  ¼n½ osru ls vk; 1]00]000 ` 

 (j) When and how much has an assessee who is senior citizen to pay advance tax?  

  ,d ofj"B ukxfjd djnkrk dks dc vkSj fdruk vfxze dj pqdkuk iM+rk gS\  

PART – B @ @ @ @ [k.M[k.M[k.M[k.M    & & & & cccc    

UNIT –I@ @ @ @ bdkbbdkbbdkbbdkbZ Z Z Z – I 

Q.2 Mr. Mohan, an Indian citizen, who is appointed as senior Professor by the govt. of 

Japan, leaves India, for the first time on 30th October, 2017, for joining his duties in 

Japan. During the previous year 2018-19 he comes to India for 182 days on 15th 

December. Determine the residential status of Mr. Mohan for the Assessment year –  

 (i) 2018-19    (ii) 2019-20 

feLVj eksgu ,d Hkkjrh; ukxfjd gS] ftls tkiku ljdkj }kjk ,d ofj"B izksQslj fu;qDr fd;k 

tkrk gS] tkiku esa viuh M~;wVh izkjaHk djus gsrq igyh ckj Hkkjr dks 30 vDVwcj] 2017 dks NksM+rk 

gSA xr o"kZ 2018 & 19 ds nkSjku og 15 fnlEcj dks Hkkjr esa 182 fnuksa ds fy, vkrk gSA eksgu 

dk dj fu/kkZj.k o"kZ & (i) 2018 - 19  (ii) 2019 - 20 ds fy, fuokl LFkku dk fu/kkZj.k 

dhft,A  
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OR@vFkok@vFkok@vFkok@vFkok    

 (a) What is Agricultural Income and Partly Agricultural Income as per Income 

Tax Act?  

 (b) Whether the followings incomes are agricultural incomes? Discuss from the 

income tax point of view: 

  (i) Rent and land let out for agricultural produce.  

  (ii) Profit on sale of agricultural land.  

  (iii) Income from lettings tractors for agricultural produce.  

  (iv) Income from tea garden in Assam.  

¼v½ vk;dj vf/kfu;e ds vuqlkj Ñf"k vk; vkSj va’kr Ñf"k vk; D;k gS\  

¼c½ fuEufyf[kr vk; Ñf"k vk; gS ;k ugha\ vk;dj ds n`f"Vdks.k ls foospuk dhft,A  

  (i) Ñf"k mRikn gsrq fdjk;s ij mBh xbZ Hkwfe ls izkIr fdjk;kA 

  (ii) Ñf"k Hkwfe ds foØ; ls ykHkA 

(iii) Ñf"k dk;ksZa ds fy, VªsDVj fdjk;s ij nsus ls vk;A  

(iv) vklke esa pk; ckxkuksa ls vk;A  
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UNIT –II@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – II 

Q.3 Mr. Sohan owns a house property in Pune which is let out for `8000 per month. Its 

Municipal Value is `80,000. Municipal Tax paid 30% of Municipal Value. Mr. 

Sohan paid Municipal Taxes of past four years along with current year previous 

year. Other expenses relating to property are following –  

 (i) Repair and Insurance Premium `7000.  

 (ii) Interest on loan for purchase of house `42,000.  

The house remained vacant for three months during the year. Compute income from 

house property for the Assessment year 2018-19.  

feLVj lksgu dh iwuk esa ,d edku lEifÙk gS tks 8000 ` izfr ekg fdjk;s ij mBh gqbZ gSA 

bldk uxj ikfydk ewY;kadu 80]000 ` gSA uxj ikfydk dj uxj ikfydk ewY; dk 30% gSA 

feLVj lksgu us foxr pkj o"kksZa ds uxj ikfydk djksa dk rFkk xr o"kZ ds djksa dk ,d lkFk 

Hkqxrku fd;k gSA lEifÙk ls lacaf/kr vU; [kpsZ fuEufyf[kr gSa &  

(i) ejEer vkSj chek izhfe;e 7000 ` 

(ii) ?kj dh [kjhn ds fy, _.k ij C;kt 42]000 ` 

edku o"kZ esa rhu ekg [kkyh jgkA dj fu/kkZj.k o"kZ 2018&19 ds fy, edku lEifÙk 'kh"kZd ls 

vk; dh x.kuk dhft,A  

OR@vFkok@vFkok@vFkok@vFkok    

 (a) Write ten name of exempted perquisites as per Income Tax Act.  

 (b) What deductions are allowed from gross salary? State provisions.  

 ¼v½ vk;dj vf/kfu;e ds vuqlkj nl dj eqDr vuqykHkksa ds uke crkb;sA  

 ¼c½ ldy osru esa ls dkSu lh dVkSfr;k¡ feyrh gSa\ izko/kku crkb;sA  
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UNIT –III@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – III 

Q.4 On 1/8/1997 Mr. Ram purchased a plot for `40,000. The fair market value of the 

plot on 1/4/2001 was `80,000. On 3/8/2017 Mr. Ram sold the plot for `15,00,000 

and paid brokerage @ 2% on sales consideration. Out of sale consideration he 

invested `7,35,000 in the construction of a residential house which was completed 

before 30/6/2018.  

 Compute the taxable amount of capital gains of Mr. Ram for the assessment year 

2018-19 assuming that he does not own any other residential house. The lost 

inflation index in 2001-02 100 and in 2017-18 272.   

1@8@1997 dks Jh jke us ,d IykWV 40]000 ` esa [kjhnkA 1@4@2001 dks bldk mfpr cktkj 

ewY; 80]000 ` FkkA 3@8@2017 dks Jh jke us IykWV 15]00]000 ` esa csp fn;k rFkk nykyh] 

vkfn foØ; ewY; ds 2% ds cjkcj nh xbZA izkIr izfrQy esa ls mlus 7]35]000 ` ,d vkoklh; 

edku ds fuekZ.k ij O;; fd;s tks 30@6@2018 ds iwoZ cudj rS;kj gks x;k FkkA  

;g ekurs gq, fd Jh jke ds ikl vU; dksbZ jgus dk edku ugha gS dj fu/kkZj.k o"kZ 2018&19 ds 

fy, mldh dj ;ksX; iw¡th ykHkksa dh jkf’k Kkr dhft,A ykxr LQhfr lwpdkad 2001&02 dk 

100] 2017&18 dk 272 gSA  
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 OR@vFkok@vFkok@vFkok@vFkok    

 State provisions of Income Tax Act regarding the following deemed incomes –  

 (a) Revocable transfer of assets  

 (b) Income of spouse  

 (c) Income of minor child  

 (d) Income of converted asset 

 fuEu ds laca/k esa vk;dj vf/kfu;e ds izko/kku crkb;s &  

 ¼v½ lEifÙk;ksa dk [k.Muh; gLrkarj.k  

 ¼c½ thou lkFkh dh vk;  

 ¼l½ vo;Ld cPps dh vk;  

 ¼n½ ifjofrZr lEifÙk ls vk;  

UNIT –IV@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – IV 

Q.5 Explain the provisions regarding carry forward and set-off of losses.  

 gkfu;ksa ds vkxs ys tkus rFkk mudh iwfrZ ds izko/kkuksa dks le>kb;sA  

 OR@vFkok@vFkok@vFkok@vFkok    

Compute the total income and tax liability of Mr. Shyam, who is 70 years old and 

disabled, for the assessment year 2018-19 :  
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Income from house property (computed)  `70,000 

Income from business  `10,10,000 

Short term capital gain  `10,000 

Long term capital loss in respect of assets  `15,000 

Interest on Saving Bank Account `14,000 

 

 70 o"khZ; ';ke] tks fnO;kax gS] dh dqy vk; ,oa dj&nkf;Ro dh x.kuk dhft, &   

edku lEifÙk ls vk; ¼x.kuk dh gqbZ½  70]000 ` 

O;kikj ls vk;  10]10]000 ` 

vYidkyhu iw¡th ykHk  10]000 ` 

lEifÙk;ksa ds laca/k esa nh?kZdkyhu iw¡th gkfu  15]000 ` 

cpr [kkrs ij cSad C;kt  14]000 ` 

UNIT –V@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – V 

Q.6 Discuss the salient features of assessment of HUF under the Indian Income Tax Act.  

 Hkkjrh; vk;dj vf/kfu;e ds varxZr fgUnw vfoHkkftr ifjokj ds dj&fu/kkZj.k ds izeq[k rRoksa dh 

foospuk dhft,A  
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OR@vFkok@vFkok@vFkok@vFkok    

Mr. Ravi is liable to pay Advance Income Tax `50,000 for his estimated total 

income for the financial year 2018-19. He deposited advance tax on different dates 

as follows –  

(a) On 15th June, 2018  `5,000 

(b) On 15th Sept., 2018  `15,000 

(c) On 15th Dec., 2018  `10,000 

(d) On 15th March, 2019  `20,000 

Find interest liability to Mr. Ravi arising due to delay in payment of advance tax for 

the assessment year 2019-20 U/S 234 (C).  

 Jh jfo foÙk o"kZ 2018&19 esa viuh lEHkkfor dqy vk; ij 50]000 ` vfxze dj tek djkus ds 

fy, nk;h gSaA mUgksaus fofHkUu frfFk;ksa dks fuEukuqlkj vfxze dj tek fd;k &   

¼v½ 15 twu] 2018 dks  5]000 ` 

¼c½ 15 flrEcj] 2018 dks  15]000 ` 

¼l½ 15 fnlEcj] 2018 dks  10]000 ` 

¼n½ 15 ekpZ] 2019 dks  20]000 ` 

 dj & fu/kkZj.k o"kZ 2019&20 ds fy, Jh jfo }kjk vfxze dj pqdkus esa gq, foyEc ds fy, /kkjk 

234 (C) ds varxZr ns; C;kt dh x.kuk dhft,A  
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PART – C @ [k.M@ [k.M@ [k.M@ [k.M    & l& l& l& l    

Q.7 Following are the particulars of taxable income? Shri Hari for the previous year 

ended on 31st March, 2018 –  

 (i) Royalty received from govt. of India `30,000.  

 (ii) Income from business earned in Japan `25,000 of which `15,000 were 

received in India. Business is controlled from India.  

 (iii) Interest received from Shri Aditya a non-resident against a loan provided to 

him to run a business in India `10,000.  

 (iv) Royalty received from Shri Alfan a resident for technical services provided to 

run a business outside India `20,000.  

 (v) Income from business in Jaipur `40,000 this business is controlled from 

France `20,000 were remitted to France.  

 Find out gross Total Income of Shri Hari for the assessment year 2018-19 if he is –  

 (a) Resident of India  

 (b) Not ordinarily resident of India  

 (c) Non resident of India in previous years  
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Jh gfj dh 31 ekpZ] 2018 dks lekIr gksus okys xr o"kZ ds fy, dj ;ksX; vk; dk fuEu izdkj 

fooj.k gS & 

(i) Hkkjr ljdkj ls izkIr jkW;YVh 30]000 `A 

(ii) tkiku esa O;kikj ls vk; 25000 ` blesa ls 15]000 ` Hkkjr esa izkIr fd;s x;sA bl O;kikj 

dk fu;a=.k Hkkjr ls gksrk gSA 

(iii) Jh vkfnR; ,d vfuoklh ls Hkkjr esa lapkfyr O;kikj ds fy;s fn;s x;s _.k ij C;kt 

10]000 `A 

(iv) Jh vYQku ,d fuoklh ls Hkkjr ds ckgj lapkfyr O;kikj ds fy, iznku dh xbZ rduhdh 

lsok ds fy, izkIr jkW;YVh 20]000 `A 

(v) t;iqj esa ,d O;kikj ls vk; 40]000 `] bl O;kikj dk fu;a=.k Ýkal ls fd;k tkrk gSA 

bl jkf’k esa ls 20]000 ` Ýkal Hkst fn;s x;sA  

dj fu/kkZj.k o"kZ 2018&19 ds fy, Jh gfj dh ldy dqy vk; dh x.kuk dhft, ;fn og xr 

o"kZ esa Hkkjr dk & 

¼v½ fuoklh gks  

¼c½ vlk/kkj.k fuoklh gks] ;k  

¼l½ iwoZ o"kksZa esa vfuoklh gksA  
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Q.8 Shri Manoj Kumar is getting `15,000 p.m. as basic pay, `1500 p.m. as dearness pay 

and `500 p.m. as dearness allowance. During the previous year he received the 

following allowance also –  

 (i) `60,000 as allowance as on duty during the running of truck.  

 (ii) `120 p.m. per son as education allowance of his two sons.  

 (iii) `350 p.m. per son as Hostel Allowance of his two sons.  

 (iv) `350 p.m. as Tribal Area Allowance.  

 (v) `100 p.m. as conveyance allowance which is used by him for private purpose.  

 (vi) `3000 p.m. as House Rent Allowance.  

Shri Manoj Kumar has taken a house for his residence at Banswara at `4000 p.m. as 

rent. He contributes 12% of his basic pay and dearness pay to his Recognised 

Provident fund and the employer also contributes a similar amount.  

 Compute the taxable salary of Shri Manoj Kumar for the Assuming year 2018-19.  

 Jh eukst dqekj dks 15]000 ` izfr ekg ewy osru] 1500 ` izfrekg eagxkbZ osru rFkk 500 ` 

izfr ekg eagxkbZ HkÙkk izkIr gks jgk gSA xr o"kZ esa mls fuEu HkÙks Hkh izkIr gq, &  

 (i) pyrs Vªd esa M;wVh djus ds fy, 60]000 ` dk HkÙkkA   

 (ii) f’k{kk ds fy, 120 ` izfrekg izfr iq= nks iq=ksa ds fy,A 
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 (iii) 350 ` izfrekg izfr iq= Nk=kokl HkÙkk nks iq=ksa ds fy,A   

 (iv) tutkfr {ks= HkÙkk 350 ` izfrekgA 

 (v) lokjh HkÙkk 100 ` izfrekg O;fDrxr dk;Z gsrqA  

 (vi) edku fdjk;k HkÙkk 3000 ` izfrekgA 

  Jh eukst dqekj us vius jgus ds fy, ,d edku ckalokM+k esa 4000 ` izfrekg ds fdjk;s 

ij fy;k gqvk gSA og vius izekf.kr izkWfoMs.V Q.M esa ewy osru rFkk egaxkbZ osru dk 

12% va’knku djrk gS rFkk fu;ksDrk Hkh bruk gh va’knku djrk gSA  

  dj fu/kkZj.k o"kZ 2018&19 ds fy, Jh eukst dqekj dh dj ;ksX; osru dh x.kuk dhft,A  

Q.9 Mention the expenses which are expressly allowed and disallowed while computing 

income from business.   

 O;olk; ls vk; dh x.kuk djrs le; Li"Vr% LohÑr vkSj vLohÑr O;;ksa dks crkb;sA 

Q.10 Explain in brief the deductions allowed to an assessee in respect of various 

payments while computing his total income.  

 djnkrk dh dqy vk; dh x.kuk djrs le; fofHkUu izdkj ds Hkqxrkuksa ds laca/k esa nh tkus okyh 

dVkSfr;ksa dks la{ksi esa le>kb,A  
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Q.11 Rahul, Vipul and Amardeep are partners in a firm sharing profits and losses in the 

ratio of 3:2:1. The Profit and Loss Account of the firm for the year ending on 31st 

March, 2018 is as follows -   

 ,d QeZ esa jkgqy] foiqy rFkk vejnhi lk>snkj gaS] tks 3 % 2 % 1 ds vuqikr esa ykHk gkfu dk 

foHkktu djrs gaSA 31 ekpZ] 2018 dks lekIr gksus okys o"kZ ds fy, mudh QeZ dk ykHk gkfu 

[kkrk fuEufyf[kr izdkj ls gaS &  

 Profit and Loss Account ended on 31st March, 2018:  

  

 

 

 

 

 

 

 

 

 

 

Particulars ` Particulars ` 

Office expenses  44,000 Gross profit  1,36,000 

Rent  8,000 Sundry receipts  12,000 

General expenses  28,000 Discount  25,600 

Interest on capital @ 24%   Net loss  50,400 

Rahul 30,000   

Vipul 27,000   

Amardeep 28,400   

Salary to Vipul  33,000   

Commission to Amardeep  25,600   

 2,24,000  2,24,000 
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As certain the total income of the firm for the assessment year 2018-19 assuming 

that the interest on capital and remuneration to partners is paid according to terms of 

the partnership deed. Vipul and Amardeep are working partners.  

dj fu/kkZj.k o"kZ 2018&19 ds fy, QeZ dh dqy vk; ;g ekurs gq, Kkr dhft, fd lk>snkjksa dh 

iw¡th ij C;kt ,oa ikfjJfed lays[k dh 'krksZa ds vuqlkj fn;k x;k gSA foiqy ,oa vejnhi lfØ; 

lk>snkj gSaA  

 

----------------------------------------- 


